What do you understand by eclectic approach of
counselling ? Discuss its basic assumptions. How is it
performed ? (2+4+4=10)
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Who are first generation learners ? Discuss the educational
challenges faced by first generation learners. How can you
help them in an inclusive setup ? (2+4+4=10)
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Differentiate between convergent and divergent thinking.
Suggest any three ways to nurture divergent thinking

among children. (2+3=5)
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What is the relation between need and interest in learning ?
How would you arouse the student's interest in a particular
learning task and maintain it ? Suggest any four ways.
(1+4=5)
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